NAAMS#HB&a

NAAMS PARTS

NAAMSER

1104
BB SR

1111
FHELBENSER

:

1118

POESS IR

BB REAAR

1113

FHRMVELSHR

1119

FHEMSAER

BE8SE

BB EELAR

FHEROVELSHR

|

P S A ER

1120

BEESE

1107

BiEEmER

1115

FHRMVELSHR

NS

-

1121

PR SR

FHROVELSHR

1117

FIMES SR

NAAMSERE




= O s

JOUDER PRECISION

EREEF- SRR R ENER
JNP50-160 G515016 160
JNP50-180 6515018 180
JNP50-200 6515020 200
JNP50-225 G515022 50 50 _ 225 70 10 2.5
JNP50-250 G515025 250
JNP50-280 6515028 280
R L D1 R r;'g;: JNP50-315 G515031 315
) Al *\ | LA JNP63-200 6516320 200
: 15 . i JNP63-225 G516322 225
L3 L3 . ;E M12 x 30mm JNP63-250 G516325 250
b JNP63-280 G516328 280
JNP63-315 G516331 o3 63 - 315 80 10 25
O#HE | L &= JNP63-355 G516335 355
GCris RADEK L L JNP63-400 G516340 400
b JNP63-500 G516350 500
l L]y JNP80-250 G518025 250
T T TR JNP80-280 G518028 280
L2 83 cz|dgi]®8 JNP80-315 G518031 315
L P JNP80-355 G518035 80 80 = 355 100 10 3
RFINPRFY : == BFINPHEF JNP80-400 6518040 400
(ELSH) F— D2 —~| R '-— D2 *{‘\I.:! (B0SH) JNP80-450 _ 450
JNP80-500 6518050 500
JNP100-315 6511031 315
JNP100-355 6511035 355
100 100 - 125 10 3
JNP100-400 G511040 400
JNP100-500 6511050 500
JNPH100315 - 315
JNPH100355 = 355
JNPH100400 - 400
JNPH100450 = 100 100 50 450 125 10 3
JNPH100550 — 550
JNP25-80 - 80
JNPH100600 - 600
i | . T S v
JNP115500 G511150 500
INP25-125 - e 2 - 125 = 9 z JNPH125355 = 355
JNP25-140 . 140 JNPH125400 - 400
INP25-160 = 160 JNPH125450 = 450
JNP25-180 - 180
INPa3-140 i o JNPH125500 - 125 125 65 500 140 10 3
iE JNP32-160 G513216 160 INPH125550 - >0 0g
= 32 32 = 45 8 2 JNPH125600 - 600 2
g JNP32-180 G513218 180 INPH125650 - 0 &
2 JNP32-200 6513220 200 z
z JNP40-140 = 140 z
JNP40-160 G514016 160
JNP40-180 G514018 180
JNP40-200 6514020 40 40 - 200 56 8 2
JNP40-225 6514022 225 ) Code
JNP40-250 G514025 250 “ JNP25-80

1097 1098



s %3

JOUDER PRECISION

BiEESE

1099

3 Code
JNM25

) Code
JNM25PAD

D ERTHEARERSH, FRATEESHSM
L3 pl L2 .
] C mmm = - R
A , T W E——
f i
I (N N ) I
[ #% Y X ) D1H6 0 #& o | [ N N Bico
Hae+ AR D4 ® e D296 Aae AR o0 0
_— _ D3 H D2g6
A »
( }“
1
6—--
Bmm
L L1
& S SERRHEM3 N ZREERRIES , BARTTIP1101, & S/)SERMRMBNEEERRIZR | BARTIIPLIO0L,
me ‘ NAAMS D1 ‘ D2 ‘ D3 ‘ L1 ‘ L2
Code
JNM25 G612540 25 32 40 32 40 30 4 3 JNM25PAD G712540 25 32 40 40 4
JNM32 G613250 32 40 50 40 50 40 4 3 JNM32PAD G713250 32 40 50 50 4
JNM40 G614063 40 50 63 50 63 50 5 3 JNM40PAD G714055 40 50 63 55 5
JNM50 G615071 50 63 71 63 71 56 6 5 JNM50PAD G715063 50 63 71 63 6
JNM63 G616380 63 80 90 80 80 63 8 6 JNM63PAD G716375 63 80 90 75 8
JNMS80 G618010 80 100 112 100 100 80 10 8 JNMSOPAD G718090 80 100 112 90 10
0g JNM100 G611012 100 125 140 125 125 106 12 10 JNM100PAD G711011 100 125 140 115 12 g
ﬁ JNM115 G611114 115 140 155 140 140 120 12 10 JNM125PAD G711213 125 160 180 138 12 %
% JNM125 G611216 125 160 180 160 160 132 12 12 é
=z =z

1100




05
T
n
=
<
P4

1101

[EIR

Code No.
S '_’|_r
-t Gy ] e
| d-td g
R

4
i ¢
T

0AR

i DI=iERR

D2=% 13
“O" 857 (3) WEEIM
- VAS
VEL] LHENG
S45C

il %

JOUDER PRECISION

eEE

Code No.
JSNLO1 &7l

7

0 #m=
SCM440

NAAMS
Code

J6-99-1 G720000C 24.6 189 M8x1.25 M8 x 20
J6-990-1 G730000C 279 235 155 M10x1.5 M10x20
J6-99-1 J6-990-1

40.1 484

451 54.9
40 63 81 51.6 50 71 92 58.9
50 71 89 55.6 63 90 111 68.4
63 90 108 65.1 80 112 133 794
80 112 130 76.1 100 140 161 934
100 140 158 90.1 115 155 176 100.9
115 155 173 97.6 125 180 201 1134
125 180 198 110.1

Code
J6-99-1

=

1=
NAAMS Code
s No

3512 L013512
JSNLOL 5019 50 190 230 63 10 L015019
6328 63 280 320 76 10 L016328
8032 80 320 370 89 15 L018032
p Code
RS NoO.
JSNLO1 - 5019

1102

NAAMSERE



0
b
)
>
<
P4

1103

fusH

Code No.
M #E
S45C
&S
o/
JSNRA1Z5] - JSNR430001
F ?
6 ‘y‘b 2
\"’;/*
] T~ I~ A -1
- g L]
M12X20
O(b
L
JSNR430002
JSNR42E5! .

J F 54 Q;](?

Qs

6 6 @ 2
/ ; % %%
| S [z

o | | O - | L s

7"'J = = w [ 1

M12X20 H © 10

&

NO.

NAAMS Code

2511 R412511
JSNRAL 3513 35 130 R413513
5017 50 170 R415017
6321 63 210 R416321
| ms T
2513 25 22 25 75 17 20 130 R422513
JSNR42 3515 35 32 30 95 27 25 155 R423515
5020 50 47 35 135 42 30 200 R425020
6325 63 60 45 170 55 40 250 R426325
[ N (S
s NO.
JSNR43 0001 R430001
0002 R430002
< Code
“ F5E  NO.
JSNR43 - 0001

Hidig SR

Code No.
JG11E%

m #E [HE
sescoim | /IR

2-M16IT k7L >
S
L
2-016 G6 D
il
4 \
o — & @
0.8 9
N I |
10.025[B \ AN
(=] <
6x45°—pt—1

B

10

r-—

il %

JOUDER PRECISION

B
H
25
0.8 —C
1]0.025[|A
32,
EEE3

JG118007 75 G118007
JG118010 80 100 25 35 40 55 G118010
JG118012 125 G118012
JG119507 75 G119507
JG119510 95 100 40 50 55 70 G119510
JG119512 125 G119512
JG111207 75 G111207
JG111210 120 100 65 75 80 95 G111210
JG111212 125 G111212
) Code
" JG118007

1104

NAAMSERE



SN AR SR i

Code No. Code No.
JRO1Z%1 JRO2E% M10 4L
L\
L
53]
E
(=]
0 |
0.8 g RO.8
X :“ F+0.025]
m#E | M2 L7 Sy LW#E | L EE = c = -
11 FEFETAK _ o /1 BB S FEREE £ <
S45C+ER | Hrcaoll 2-M10 _»Ez0025], S45C+AR | "HRcaoplE = 2 g
g 3 T eee® \ 5
T - 8 LI
E >
- 3
(X X
oo NN DRI ERE]
JR023510 R023510
JR023512 R023512 125 49.5 = - 3
JR023515 R023515 150 62 - 115 124 3
JR023520 R023520 200 62 - 112 165 174 35 25 50 4
JR023522 R023522 225 62 99.5 137 190 199 5
JR023525 R023525 250 62 112 162 215 224 5
JR023530 R023530 300 62 137 212 265 274 5
JR024010 R024010 100 - - - 65 74 2
JR024015 R024015 150 62 - - 115 124 3
JR012507 R012507 JR024020 R024020 200 62 - 112 165 174 40 25 60 4
JR012510 R012510 100 - - 63 76 2 JR024022 R024022 225 62 99.5 137 190 199 5
JR012515 RO12515 150 - 63 113 126 25 15 37 3 JR024025 R024025 250 62 112 | 162 | 215 | 224 5
JR024030 R024030 300 62 137 212 265 274 5
JR012520 R012520 200 63 113 163 176 4 JR025010 R095010 100 . 2 5 o 4 >
JRO13207 R013207 75 - - 38 51 2 JR025012 R025012 125 495 = - 90 99 3
JR013210 R013210 100 = = 63 76 32 15 45 2 JR025015 R025015 150 62 - — 115 124 3
JR025020 R025020 200 62 - 112 165 174 50 30 70 4
JRO13215 RO13215 150 ; 63 113 126 3 JR025022 R025022 225 62 99.5 137 190 199 5
JR013220 R013220 200 63 113 163 176 4 JR025025 R025025 250 62 112 162 215 224 5
JR013707 R013707 75 - - 38 51 2 JR025030 R025030 300 62 137 212 265 274 5
JR025510 R025510 100 - - - 65 74 2
SRORSLY HUETALY 100 : 3 63 /6 37 30 50 e JR025512 R025512 125 | 495 - - 90 99 3
JRO13715 R013715 150 - 63 113 126 3 JR025515 R025515 150 62 _ _ 115 124 3
JR013720 R013720 200 63 113 163 176 4 JR025520 R025520 200 62 - 112 165 174 55 35 80 4
JR025522 R025522 225 62 99.5 137 190 199 5
JRO14810 RO14810 100 ; ) 63 /6 2 JR025525 R025525 250 62 112 162 215 224 5
JR014815 R014815 150 = 63 113 126 3 JR025530 R025530 300 62 137 212 265 274 3
JR014820 R014820 200 63 113 163 176 48 U 60 4 JR026510 R026510 100 - - - 65 74 g
JR026512 R026512 125 495 - - 90 99
" JR014825 R014825 250 83 153 213 226 4 JRO26515 R026515 1% o i i 115 14 3 -
= JR026520 R026520 200 62 - 112 165 174 65 45 90 4 =
2l T JR026522 R026522 225 62 99.5 137 190 199 5 4
2 ‘ JR026525 R026525 250 62 112 162 215 224 5 2
g - JR012507 JR026530 R026530 300 62 137 212 265 274 5 =<
JR027510 R027510 100 - - - 65 74 2
JR027512 R027512 125 495 - - 90 99 3
JR027515 R027515 150 62 - - 115 124 3
JR027520 R027520 200 62 - 112 165 174 75 45 100 4
JR027522 R027522 225 62 99.5 137 190 199 5
JR027525 R027525 250 62 112 162 215 224 5
JR027530 R027530 300 62 137 212 265 274 5

p Code
JR023510

1105 1106



BB R i %

JOUDER PRECISION

— | ®m8 |  NAAMSCode |

JWO1/JWO02/JWO3E5] JWOL | W02 | W03 mmmﬂ.
JW015010 | JW025010 | JW035010| WO015010 | W025010 | W035010 100 60
30
JWO15015 | JW025015 | JW035015 | WO15015 | W025015 | W035015 | 50 | 150 25 25 110
09 9 9 - JW015020 | JW025020 | JW035020| WO015020 | W025020 | W035020 200 40 - 160
A & JW018010 | JW028010 | JW038010 | W018010 | W028010 | WO038010 100 - 60| A | 2
Hole type A 30| -
P c °, JW018015 | JW028015 | JW038015| WO018015 | W028015 | W038015 150 110
w d ]
JW018020 | JW028020 | JW038020 | W018020 | W028020 | W038020 | 80 | 200 20 60 160
JW018025 | JW028025 | JW038025| W018025 | W028025 | W038025 250 40 210
o o w o -
IwoL MR L o l | JW018031 | JW028031 | JW038031 | WO018031 | W028031 | W038031 315 40 250(275| B | 3
SCM440+H/5 HRC50~ A @
° JW011050 | JW021050 | JW031050| WO011050 | W021050 | W031050 50 1427 -
B | 4 ©a®
W02 = = Hole type B & ) = D
(M L 8% JW011080 | JW021080 | JW031080 | W011080 | W021080 | WO031080 80 30 |50 | -
c @
SCM440 HRC50~ A\ - 1 2
LU JW011010 | JW021010 | JW031010| W011010 | W021010 | W031010 100 60
wos T m#HE 30 - A
L — JW011015 | JW021015 | JW031015 | W011015 | W021015 | W031015 | 100|150 22 78 110
_WaE a8 o ol uw T [ W
o°l l | JW011020 | JW021020 | JW031020| W011020 | W021020 | W031020 200 ~ |135 160
A & & JW011025 | JW021025 | JW031025 | W011025 | W021025 | W031025 250 50 40 185(210| B | 3
JW011031 | JW021031 | JW031031| WO011031 | W021031 | W031031 315 250275
Hole type C ...
° JW011280 | JW021280 | JW031280 | W011280 | W021280 | W031280 80 -|30|s0|-|p
Coa © JW011210 | JW021210 | JW031210| W011210 | W021210 | W031210 100 - - 60 5
w 30 A
— JW011215 | JW021215 | JW031215 | W011215 | W021215 | W031215 150 - 110
. oAl o 020 o & 125 25 ——100—— -
Tt o o ] i & JW011220 | JW021220 | JW031220| WO011220 | W021220 | W031220 200 135|160
5 o 8 g
. . 62 B |3
g ! LT 1T JW011225 | JW021225 | JW031225 | W011225 | W021225 | W031225 250 40 185 210
& S L
08 ©13.5 & 3x45°
JW011231 | JW021231 | JW031231| WO011231 | W021231 | W031231 315 65 |250|275| ¢ | 4
JW011610 | JW021610 | JW031610 | W011610 | W021610 | WO031610 100 - - |60
o JW011615 | JW021615 | JW031615 | WO11615 | W021615 | W031615 150 |- 110
A — —
Hole type D & JW011620 | JW021620 | JW031620 | WO11620 | W021620 | W031620 | 160|200 30 | 80 |130 135/160| B | 3
JW011625 | JW021625 | JW031625| WO011625 | W021625 | W031625 250 o 185210
C A _
08 w N\ JWO11631 | JW021631 | JW031631 | W011631 | W021631 | W031631 315 %> | eol2rs| | * 0
. i
2 :
z ) Code z
‘( JW015010

1107 1108



S b IR S b EIR b e

Code No.
JR21 31 JR22 31

«Q < o o [a} - S| \;‘ 4 = \;i
Q Q
(=} o
! | | v
)
20 20
(MK 2153 L EE 0.%%" Q Q (MK 7154 2] T 0.%%"° l {
1/ EBEIREEK 0 1/ FEBESEEK 0
SASC+BE | VrcaoplE W S45C+ARE | rcaonl b wl o
1€ X 1€ X
& #| | #
o m 3 © Eml
- W

RS EEREY T

JR210720 R210720 200 100 - - 175 JR220720 R220720 200

JR210725 R210725 250 125 - : 225 C JR220725 R220725 250

JR210731 R210731 e 315 90 158 225 290 o 40 JR220731 R220731 e 315

JR210735 R210735 350 100 175 250 325 . JR220735 R220735 350

JR210740 R210740 400 115 200 285 375 JR220740 R220740 400

JR210745 R210745 450 125 225 325 425 JR220745 R220745 450

JR211020 R211020 200 100 - - 175 3 JR221020 R221020 200

JR211025 R211025 250 90 : 160 225 4 JR221025 R221025 250

JR211031 R211031 L0 315 90 158 225 290 % e JR221031 R221031 100 315

JR211035 R211035 350 100 175 250 325 . JR221035 R221035 350

JR211040 R211040 400 115 200 285 375 JR221040 R221040 400

JR211045 R211045 450 125 225 325 425 JR221045 R221045 450

JR211220 R211220 200 100 - - 175 3 JR221220 R221220 200

JR211225 R211225 250 90 : 160 225 4 JR221225 R221225 250

JR211231 R211231 e 315 90 158 225 290 o o JR221231 R221231 e 315

JR211235 R211235 350 100 175 250 325 JR221235 R221235 350

JR211240 R211240 400 115 200 285 375 > JR221240 R221240 400
0= JR211245 R211245 450 125 225 325 425 JR221245 R221245 450 o
5 JR211520 R211520 200 100 - - 175 3 JR221520 R221520 200 5
> JR211525 R211525 250 90 - 160 225 4 JR221525 R221525 250 p
% JR211531 R211531 315 90 158 225 290 JR221531 R221531 315 §

JR211535 R211535 150 350 100 175 250 325 130 65 . JR221535 R221535 150 350

JR211540 R211540 400 115 200 285 375 JR221540 R221540 400

JR211545 R211545 450 125 225 325 425 JR221545 R221545 450

3 Code 3 Code
JR211020 JR221020

1109 1110



FHELETIS IR

T EEEEEEE——— | me [waawscode| L A B c D e | FH ] W RE
JG01/JGO2R5! ) JG016022 G016022 225 | 73 | 128 | 188 | 201 o .
_— - P . JG016025 G016025 250 | 83 | 153 | 213 | 226
2] o o T, JG017507 G017507 75 - - 38 51 i
JG017510 G017510 100 = - 63 76
JG017512 G017512 125 - 505 | 88 | 101
z JG017515 G017515 150 - 63 | 113 | 126 | 18 3 2 < 3
0y JG017517 G017517 175 - 755 | 138 | 151
= & JG017520 G017520 200 | 63 | 113 | 163 | 176
T JG017522 G017522 225 | 73 | 128 | 188 | 201 4
JG017525 G017525 250 | 83 | 153 | 213 | 226
» JG028007 G028007 75 - - 38 51 5
(MK )5 13l TEE JG028010 G028010 100 - - 63 76
S45C+AE //Ff;ﬁ;lfik L 1 L4 % JG028012 G028012 125 - 50.5 | 83 | 101
() ) () JG028015 G028015 150 - 63 | 113 | 126 %0 3
° ° ° JG028017 G028017 175 - 755 | 138 | 151
JG028020 G028020 200 | 63 | 113 | 163 | 176
JG028022 G028022 225 | 73 | 128 | 188 | 201 4
JG028025 G028025 250 | 83 | 153 | 213 | 226
ey JG020007 G020007 75 - - 38 51 5
JG014007 G014007 75 - - 38 51 , JG020012 G020012 125 - 505 | 88 | 101 2
JG014010 G014010 100 - - 63 76 JG020015 G020015 150 - 63 | 113 | 126 100 3
JG014012 G014012 125 - 505 | 88 | 101 JG020017 G020017 175 - 755 | 138 | 151
JG014015 G014015 150 - 63 | 113 | 126 ) 15 3 JG020020 G020020 200 | 63 | 113 | 163 | 176
JG014017 G014017 175 - | 755 | 138 | 151 1G020022 G020022 225 | 73 | 128 | 188 | 201 4
JG014020 G014020 200 | 63 | 113 | 163 | 176 JG020025 G020025 250 | 83 | 153 | 213 | 226 | 44 18 0
JG014022 G014022 225 | 73 | 128 | 188 | 201 4 JG025007 G025007 75 - - 38 51
JG014025 G014025 250 | 83 | 153 | 213 | 226 JG025010 G025010 100 - - 63 76 2
JG014507 G014507 75 - - 38 51 : JG025012 G025012 125 - 505 | 88 | 101
JG014510 G014510 100 - - 63 76 JG025015 G025015 150 - 63 | 113 | 126 5 3
JG014512 G014512 125 - 505 | 88 | 101 JG025017 G025017 175 - 755 | 138 | 151
JG014515 G014515 150 - 63 | 113 | 126 a5 - 3 JG025020 G025020 200 | 63 | 113 | 163 | 176
JG014517 G014517 175 - | 755 | 138 | 131 JG025022 G025022 225 | 73 | 128 | 188 | 201 4
JG014520 G014520 200 | 63 | 113 | 163 | 176 JG025025 G025025 250 | 83 | 153 | 213 | 226
JG014522 G014522 225 | 73 | 128 | 188 | 200 | o . 45 4 1G026007 G026007 75 - - 38 51 5
JG014525 G014525 250 | 83 | 153 | 213 | 226 JG026010 G026010 100 - - 63 76
JG015007 G015007 75 - - 38 51 5 JG026012 G026012 125 - 505 | 88 | 101
JG015010 G015010 100 - - 63 76 JG026015 G026015 150 - 63 | 113 | 126 3
JG015012 G015012 125 - 505 | 88 | 101 JG026017 G026017 175 - 755 | 138 | 151 60
. JGO015015 G015015 150 - 63 | 113 | 126 % 3 JG026020 G026020 200 | 63 | 113 | 163 | 176 .
%E JG015017 G015017 175 - | 755 | 138 | 151 JG026022 G026022 225 | 73 | 128 | 188 | 201 4 %
g JG015020 G015020 200 | 63 | 113 | 163 | 176 JG026025 G026025 250 | 83 | 153 | 213 | 226 o
< JG015022 G015022 225 | 73 | 128 | 188 | 201 4 <
z JG015025 G015025 250 | 83 | 153 | 213 | 226 30 z
JG016007 G016007 75 - - 38 | 51 , " JG‘;‘::':W
JG016010 G016010 100 - - 63 76 =
JG016012 6016012 125 | - | 505 | 88 | 101 16025007
JG016015 G016015 150 - 63 | 113 | 126 60 3
JG016017 G016017 175 - | 755 | 138 | 151
JG016020 G016020 200 | 63 | 113 | 163 | 176 4

1111 1112



SV RIS SN VEISH D i

Code No.
JGISEF JGITEF

BEENE 001 BERAE 001
s
e =g B - < = v =8
0 4 0
S | | TR e®*® W~ 0 Yt
N Lo | 0%e%e | T
32.5+0013 I e 32.5+0013 o ®
S
(&
65:0.025 N"cp ,,,,,,,, 65:0.025
NG
2-g12H7 M12i2ie 5, I v 2-g12H7 M12Z83,
0 #ER [HE S (A7l 016) ©14-020) TTo05TA VL2 (7L 016) (614-020)
HRC55-60 ol +
S45C | s _BASES

3

2.
(Ve

I

23
(Vehily)

650,05
65+ 005

B ‘ NAAMS Code FLE (N) s ‘ NAAMS Code ‘
JG986515 G986515 125 150 - 100 , JG976515 G976515 125 150 — 100 5
JG986520 G986520 175 200 - 150 JG976520 G976520 175 200 - 150
JG986525 G986525 225 250 125 200 X JG976525 G976525 225 250 125 200 s
JG986530 G986530 275 300 150 250 JG976530 6976530 275 300 150 250

JG986520 JG976520

- Code _

05
T
n
=
<
P4

NAAMSERE

1113 1114



SV RIS SN VEISH D i

JG100%5Y

Code No.
JG99F%I

BERSAE 1001 BEEIAZ £001

60

@) == R o +

62.5+0013 B 62.5 0,013

(217.5-226)

(7#lel7.5)

(Vehity)

28

D#EE | L EE -
S45C HRC55-60 1250025 R p— ?2*35 125 +0.025 -
11 FEEHREEX | miemiez, 2-o16H7 REE+AE M16:ie7, 2-616H7 Y

(217.5-226)

(#lel7.5)

28

(Ve

85+0.05
85+0.05

0§
b
)
>
<
P4

1115

JG991215
JG991220
JG991225
JG991230

NAAMS Code

G991215
G991220
G991225
G991230

125
175
225
275

150 -
200 —
250 125
300 150

100
150
200
250

p Code
JG991225

JG1001215
JG1001220
JG1001225
JG1001230

NAAMS Code

G1001215
G1001220
G1001225
G1001230

125
175
225
275

150
200
250
300

AE(N)
— 100 )
= 150
125 200 3
150 250

p Code
JG1001225

NAAMSERE

1116



NAAMSERER

1117

ROESSIR

Code No.
JG41%5%

il %

JOUDER PRECISION

ROESS|#

[ #&R Ix WERE
1K
s45C HRCAOLLE

Code No.
JG42/)GA3E5
2-012G6
A
[a]
o l
o
2-M12x1.75 N_2-M12x1.75
S 62 T mHE | L EE N
< P ///%%&%ﬁk
— HRC40L,
W N-M12i k7L $13-20 M12iT k7L (N)
JG43 m #E
3 RES+AR
[Te]
o
@ m' o ' © °
\ 0
5 oal T 20002, | |,
3 BT
//] 0.02 A 90 000 |
I
I
&
X A= o &
y l vyl 0.02|A _w'_
o;lr' _‘ ﬁ N
8 X ' l
— . [[c0z ]
N}
R2 ®
O | 40700 39.97 %0s
(RO RTFR)

NAAMS Code

NAAMS Code A B C D L FLE(N)
JG42 JG43

JG419020 G419020 - 120 145 170 200 2 JG424020 JG434020 G424020 G434020 2

JG419030 G419030 135 220 245 270 300 3 JG424030 JG434030 G424030 G434030 3
Elﬂ
5
wv
=
<
_ _ <
\ \ .

JG419020 JG424020

1118



SHIMS R ER SHIMS R ER Dbt s

Code No. Code No.
JR11%E7% JR12Z5%

30

=
™

25

.' " " " " " " “ “ “ “ “ “ “
1
<
- M4
60 ° 100
0 #= (3] fERE [ #E 13 B
/1RSI I —— 5 1/ EBEREK -~ L ————————————————»
S45C+AZ | R ToN T 40+0.025 S45C+AE | pcaos L 750,025

w ) <
‘ ‘ ‘ R0.8

R0.8

o ol o

N

> < 10:0.025
59
75REF

(@]
(@]
O
, 13+0.025

26—1—

[
M16TTLFL @ @

+
o

43
55REF

N-M12iT k7L

0

e;_'@‘@'@-—é--i _O]

2-016G6 _iJ

LJ o‘ o‘ <‘ 8‘ LJ o‘ o‘ <‘ &
2- 012G6 le30 o 16 ¢
2-M10x1.5, 12) 2-M10x1.5 1
M12 M16
(@13-020) (@18-26)

NAAMS Code A NAAMS Code
JR114016 R114016 68 - : 110 123 136 160 . JR127516 R127516 - 64 _ 108 124 128 160 .
JR114020 R114020 88 - - 150 163 176 200 JR127520 R127520 _ 84 - 148 164 168 200
JR114025 R114025 - 148 200 213 226 250 4 JR127525 R127525 24 - 144 198 214 218 250
JR114031 R114031 78 1455 213 265 278 291 315 5 JR127531 R127531 142 210 263 279 283 315 5

Code

3 Code 3
JR114016 JR127516

NAAMSERER

0
b
)
>
<
P4

1119 1120



0
[~}
Ao
(%]
=
<<
<
P4

1121

Code No.
JW11/JW21/JW31ZE5%51

b

s R

S45C+A/E

o1

S45C

st @R

REE+AE

JW11/JW31 Jw21
[T [T
ol ] o & ol & o g
0 | 8 o | 3
20 @ 20
.0
°® [ X )
we @ e O we | /A
Wzos W=o05

ST

(RLLY k}
L'lul Bin
JOUDER PRECISION

JwW21 JW31 W11l W21 W31l
30 125

JW111710 | JW311710 | WI111710 W211710 W311710

W311716

JW111210

JW111216

JW111512

65

JW111710

W211716

W111716

JW311716

JW211716

JW111716

=
JW111210

1122

NAAMSERE



	12.NAMMS部品01-P1095-P1108.pdf
	12.NAMMS部品02-P1109-P1122.pdf

